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Sr. No. 190202        Your Roll No……………………....... 

M.A./ Sem. II 

SANSKRIT: Paper No. 202 

᳞ाकरण᳞ाकरण᳞ाकरण᳞ाकरण    : : : : लघुलघुलघुलघुिस᳍ा᭠तकौमदुीिस᳍ा᭠तकौमदुीिस᳍ा᭠तकौमदुीिस᳍ा᭠तकौमदुी  
VYĀKARAṆA LAGHUSIDDHĀNTAKAUMUDĪ 

    

Time – 3 Hours         Max. Marks - 70 

 

 

Write your Roll No. on the top immediately on receipt of this question paper 

((((इस ᮧइस ᮧइस ᮧइस ᮧ᳤ᮧᮢ के िमलत ेही ऊपर ᳰद᳤ᮧᮢ के िमलत ेही ऊपर ᳰद᳤ᮧᮢ के िमलत ेही ऊपर ᳰद᳤ᮧᮢ के िमलत ेही ऊपर ᳰदएएएए    गगगगएएएए    िनधाᭅᳯरत ᭭थान पर अपना अनᮓुमाकँ िलिखए ।िनधाᭅᳯरत ᭭थान पर अपना अनᮓुमाकँ िलिखए ।िनधाᭅᳯरत ᭭थान पर अपना अनᮓुमाकँ िलिखए ।िनधाᭅᳯरत ᭭थान पर अपना अनᮓुमाकँ िलिखए ।))))    
 

Note:  Unless otherwise required in a question, answers should be written in Sanskrit or in Hindi or in English 

but the same medium should be used throughout the paper.  

ᳯट᭡पणीᳯट᭡पणीᳯट᭡पणीᳯट᭡पणी: : : : अ᭠यथा आव᭫यक न होने पर इस ᮧ᳤-पᮢ का उᱫर सं᭭ कृत सं᭭ कृत सं᭭ कृत सं᭭ कृत या िह᭠दीिह᭠दीिह᭠दीिह᭠दी या अᮕंजेीअᮕंजेीअᮕंजेीअᮕंजेी ᳰकसी एक भाषा मᱶ दीिजए, पर᭠तु सभी 
ᮧ᳤ के उᱫरᲂ का मा᭟यम एक ही होना चािहए । 

 
 अि᭠वितअि᭠वितअि᭠वितअि᭠वित----1 (Unit-I)  

1. (अअअअ)  िन᳜िलिखत मᱶ से ᳰक᭠हᱭ दोदोदोदो सूᮢᲂ कᳱ सोदाहरण ᳞ा᭎या कᳱिजए : 
Explain any two of the following rules with examples: 

अथᭅवदधातुरᮧ᭜ययः ᮧाितपᳰदकम्, नाᳰदिच, जसः शी, गोतो िणत्, याडापः, टेः 

3 x 2 = 6 

(बबबब) िन᳜िलिखत मᱶ से ᳰक᭠हᱭ दोदोदोदो पदᲂ कᳱ ᱨपिसि᳍ ᮧᳰᮓया ससूᮢ ᮧदᳶशᭅत कᳱिजए: 
Explain the derivational process of any two of the following words quoting the relevant 

rules: 
रामान्, रामाणाम्, हᳯरणा, रमे, ᭄ाने, िलट् 

3 x 2 = 6 

अि᭠वितअि᭠वितअि᭠वितअि᭠वित----2 (Unit-II) 

2. (अअअअ) िन᳜िलिखत मᱶ से ᳰक᭠हᱭ दोदोदोदो सूᮢᲂ कᳱ सोदाहरण ᳞ा᭎या कᳱिजए : 
Explain any two of the following rules with examples: 

कतुᭅरीि᭡सततमं कमᭅ, ᮧथमािन᳸दᭅ᳥  ं समास उपसजᭅनम्, अ᳞यीभावे चाऽकाले, उपमानािन 
सामा᭠यवचनःै, ᳇᭠᳇ ेिघ, उिगत᳟ 

3 x 2 = 6 

(बबबब) िन᳜िलिखत मᱶ से ᳰक᭠हᱭ दोदोदोदो पदᲂ कᳱ ᱨपिसि᳍ ᮧᳰᮓया ससूᮢ ᮧदᳶशᭅत कᳱिजए: 
Explain the derivational process of any two of the following words quoting the relevant 

rules: 
अिधहᳯर, कृ᭬णि᮰तः, चोरभयम्,  घन᭫यामः, अजा, गागᱮ 

3 x 2 = 6 
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अि᭠वितअि᭠वितअि᭠वितअि᭠वित----3 (Unit-III)    

 

3. (अअअअ). 
िन᳜िलिखत मᱶ से ᳰक᭠हᱭ दोदोदोदो सूᮢᲂ कᳱ सोदाहरण ᳞ा᭎या कᳱिजए : 
Explain any two of the following rules with examples: 

शेषे ᮧथमः, अतो दीघᲃ यिञ, िध च, शािसविसघसीना ंच, जुिस च, अद᭤य᭭तात ्

3 x 2 = 6 

(बबबब). िन᳜िलिखत मᱶ से ᳰक᭠ही दोदोदोदो पदᲂ कᳱ ᱨपिसि᳍ ᮧᳰᮓया ससूᮢ ᮧदᳶशᭅत कᳱिजए: 
Explain the derivational process of any two of the following words quoting the relevant 

rules: 
भवि᭠त, अभवत,् एधेते, जघास, जुहोित, दी᳞िस 

3 x 2 = 6 

अि᭠वितअि᭠वितअि᭠वितअि᭠वित----4 (Unit-IV) 

4. (अअअअ). िन᳜िलिखत मᱶ से ᳰक᭠ही दोदोदोदो सूᮢᲂ कᳱ सोदाहरण ᳞ा᭎या कᳱिजए : 
Explain any two of the following rules with examples: 

शे मुचादीनाम्, तनाᳰद᭤य᭭तथासोः, िन᭜यं करोित, त᭜ᮧयोजको हतेु᳟, िमतां ᮳᭭वः, गणुो यङ्-लुकोः 

3 x 2 = 6 

(बबबब). िन᳜िलिखत मᱶ से ᳰकसी एकएकएकएक श᭣द कᳱ ᱨपिसि᳍ ᮧᳰᮓया ससूᮢ ᮧदᳶशᭅत कᳱिजए: 
Explain the derivational process of any one of the following words quoting the relevant 

rules: 

तुदित, ᱧणि᳍, भावयित, राजीयित 

3 x 1 = 3 

 अि᭠वितअि᭠वितअि᭠वितअि᭠वित----5    (Unit-V)  

5. (अअअअ). िन᳜िलिखत मᱶ से ᳰक᭠ही दोदोदोदो सूᮢᲂ कᳱ सोदाहरण ᳞ा᭎या कᳱिजए : 
Explain any two of the following rules with examples: 

वाऽसᱨपोऽिᳫयाम्, ईद ्यित, आत᳟ोपसगᱷ, त᭭याऽप᭜यम्, उ᭜साᳰद᭤योऽञ्, अत इिनठनौ 

3 x 2 = 6 

(बबबब). िन᳜िलिखत मᱶ से ᳰक᭠ही एकएकएकएक श᭣द कᳱ ᱨपिसि᳍ ᮧᳰᮓया ससूᮢ ᮧदᳶशᭅत कᳱिजए: 
Explain the derivational process of any one of the following words quoting the relevant 

rules: 

एिधत᳞म्, ल᭤यम्, कारकः, आ᳡पतः, गा᭏यᭅः 

3 x 1 = 3 

6. इत् सं᭄ा से सबंि᭠धत सूᮢ ᲂ का उ᭨लेख करत ेᱟए इसके कायᲄ एव ंᮧयोजनᲂ का उ᭨लेख कᳱिजए । 
Quoting the related sūtras of it saṃjñā, describe its functions and objectives.  

अथवाअथवाअथवाअथवा/OR 

स᭥ब᳍ सूᮢᲂ का उ᭨लेख करत ेᱟए िविभ᳖ अथᲄ या कालᲂ मᱶ लकारᲂ के ᮧयोग पर एक िनब᭠ध िलिखए।  
Write an essay on uses of lakāra mentioning the related rules in tenses or various 

meaning. 

 

8 x 1 = 8 

7. िन᳜िलिखत मᱶ से ᳰक᭠ही दोदोदोदो पर सं᭭ कृतसं᭭ कृतसं᭭ कृतसं᭭ कृत मᱶ ᳯट᭡पणी िलिखए । 
Write a notes on any two of the following in Sanskrit: 

सवाᭅᳰदगण, पद स᭖᭄ा, अ᭤यासकायᭅ, लो᭗लकार, लङ्ृ लकार का ᮧयोग 

4 x 2 = 8 
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